SN

HzH: IHEAL S2ZA0U Y= EAQUsE =FHHHE AL(2ELXIEMNL/NILEZAl)

SR A0 H=ES =0t 22 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
A 13,151,402 34,604,683 N 21,453,281

= 4,000,000
Al 9,151,402
2HEBAF ABZAIN S BSHJU=E =t 22 ( 12,908,056 33,902,954 N 20,994,898
FELX ML/ XSL Al
= 4,000,000
Al 8,908,056
AlBIO| =8t =FERJ 2 12,908,056 33,902,954 N 20,994,898
= 4,000,000
Al 8,908,056
=28 222 8,000,000 8,000,000 0
2 4,000,000
Al 4,000,000
101 ol 4| 3,316,341 2,687,986 628,355
= 1,658, 171
Al 1,658,170
04 JIZtH2Z2XNSE S 3,316,341 2,687,986 628,355
= 1,658,171
Al 1,658,170
= Ol & 3,316,341 2,687,986 628,355
= 1,658, 171
Al 1,658,170
O=&OI2IEHA S22 JI2HH 22 KH(
A&, 2HE) oA 265,323
-Jlga2 83, 130& x10H x212 x8 & 139,659
= 69,829
Al 69,830
—R=2§dsY 83, 130& *10H »43 35,746
= 17,873
Al 17,873
—s5gg 83, 130& *10H x35&2 1.5 43,644
= 21,822
Al 21,822
R EE PN
83,130 /8Al 2 x 102 35 x4 Al 2t*x1.5 21,822
= 10,911
Al 10,911
— =03 240,871,000& *4 . 5% 10,840
= 5,420

- 1103 -




SN

HzH: IHEAL S2ZA0U Y= EAQUsE =FHHHE AL(2ELXIEMNL/NILEZAl)
CH9l: AlRIOl =S AMONE Be CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2

Al 5,420
—2AHLE8E 240,871,000& *3.12% 7,516
= 3,758
Al 3,758
- 1188d 240,871,000& *1.5% 3,614
= 1,807
Al 1,807
—MHEE 240,871,000 «0.8% 1,927
= 964
Al 963
— &) YEE 7,516,000 %7 .38% 555
= 278
Al 277
OAN&EsY 2% JI2ZMZ22 A 21| 150,646
-J23 118,000& *4H »212 «8I & 79,296
= 39,648
Al 39,648
—S=52¢xg 118,000& x4 43! 20,296
= 10, 148
Al 10, 148
-G 118,000 *4H x352 «1.5 24,780
= 12,390
Al 12,390

— A2t =<
118,000 /8Al 2t x4 H 352 x4 Al 2t % 1.5 12,390
= 6,195
Al 6,195
—=0d3 136,762,000& *4.5% 6,155
= 3,077
Al 3,078
—H2AEE 136,762,000& *3. 12% 4,267
= 2,134
Al 2,133
- 101s88d 136,762,000& *1.5% 2,052
= 1,026
Al 1,026
—MHEE 136,762,000& *0.8% 1,095
= 547
Al 548
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SA HRAMA
m: FUHA ABCAN R BAYS SHOEH (IS ANL/NSL AN
ol AIRIO| BEF =OEE 2o CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
— A YLEE 4,267,000& *7.38% 315
=2 158
Al 157
OFAAL =ZANE A2 & I8t xH
AlE Q1A H| 131,177
—-Jl23 83, 130& *10Y x21 x4 & 69,830
= 34,915
Al 34,915
—S=52xg 83, 130& x10Y 21 17,458
= 8,729
Al 8,729
-5 83, 130& *10H x17 *1.5 21,199
= 10,599
Al 10,600
—AZ2A2RFE
83, 130 /8AI 2t x 10 x17L %4 A| 2k%1.5 10,600
= 5,300
Al 5,300
— =20HZ2 119,087,000& *4.5% 5,359
= 2,679
Al 2,680
—H2AEE 119,087,000& *3. 12% 3,716
= 1,858
Al 1,858
- 10188d 119,087,000& *1.5% 1,787
=2 893
Al 894
—MHEE 119,087,000& *0.8% 953
= 477
Al 476
— &) AYEE 3,716,000 +7.38% 275
= 137
Al 138
OFJL BHoAAE HE olAH| 74,479
—-Jl23 118,000 4G 212 x4 & 39,648
= 19,824
Al 19,824
—S=s5gxY 118,000& x4 »21 9,912
= 4,956
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SN
X ZH -
L=

el

i
40

[l
10

A o
(J1EH)

Bl

0

0y

e
0y
H
o

[e¢]

H
)

oy

e
oy
H
oo

]
0f
H

o

o

915,305,000& *3. 12%

915,305,000& *1.5%

915,305,000& *0.8%

28,558,000& 7. 38%

83,130 38 21 x4

83,130 38 212

83,1303 x38H x17& x1.5

Al 2Ex38L 172 x4 A| 2k 1.5

452,519,000& *4.5%

452,519,000 *3. 12%

452,519,000 «1.5%

452,519,000 «0.8%

W

Al

W

Al

H

Al

H

Al

A

Al

W

Al

A

Al

A

Al

W

Al

H

Al

A

Al

H

Al

20,595
20,594
28,558
14,279
14,279
13,730
6,865
6,865
7,323
3,662
3,661
2,108
1,054
1,054

498,453
265,351
132,675
132,676
66,338
33,169
33,169
80,553
40,277
40,276

40,277
20,138
20,139
20,364
10,182
10,182
14,119
7,060
7,059
6,788
3,39
3,39
3,621
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SN

m: FUHA ABCAN R BAYS SHOEH (IS ANL/NSL AN
ol AIRIO| BEF =OEE 2o GO
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 1,810
Al 1,811
-3 YEHE 14,119,000 *7.38% 1,042
= 521
Al 521
O=&UINFR A= L 22 JI2HA

22X A 795,004
—-JI2=s 83,1303 +x30F 21 «8& 418,976
= 209,488
Al 209,488
—Resdg 83, 1303 x30H 43! 107,238
= 53,619
Al 53,619
—Feg 83, 130& *30F 35 «1.5 130,930
= 65,465
Al 65,465

— A2t 2224
83,130 /8AI 2t *30H 352 x4 A| 2t+1 .5 65,465
= 32,733
Al 32,732
—=324H3 722,607 ,5253 4 . 5% 32,518
= 16,259
Al 16,259
— 22 722,607,525% *3.12% 22,546
= 11,273
Al 11,273
—1NE2E 722,607 ,5253 *1.5% 10,840
= 5,420
Al 5,420
—MHEE 722,607 ,5253 *0.8% 5,781
= 2,891
Al 2,890
-3 YEEH 10,839, 1132 *6.55% 710
= 355
Al 355

Oz=&BIIERA o8l A=K S0Hol L

Ol == ozl 393,046
-Ji2= 83, 130 & *30H 21 x4 & 209,488
= 104,744
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SN HEAYD
HzH: IHEAL S2ZA0U Y= EAQUsE =FHHHE AL(2ELXIEMNL/NILEZAl)
SR A0 H=ES =0t 22 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Al 104,744
—S=252xg 83, 130& *30H x21 52,372
= 26,186
Al 26,186
-5 83, 130& *30H x 17 *x1.5 63,595
= 31,798
Al 31,797
N ETEE PN
83, 130 /8AI 2t *x30H x17L x4 A| 2+%1.5 31,798
= 15,899
Al 15,899
— =202 357,251, 175& %4 .5% 16,077
= 8,039
Al 8,038
—2AHAEE 357,251,175& *3.12% 11,147
= 5,573
Al 5,574
- 1188E 357,251,175& *1.5% 5,359
= 2,679
Al 2,680
—MHEE 357,251, 175& *0.8% 2,859
= 1,429
Al 1,430
— &)Y E 5,358, 768& *6.55% 351
= 175
Al 176
201 B2 A Y| 33,800 32,606 1,194
= 16,900
Al 16,900
01 At 2t2ldl 33,800 32,606 1,194
= 16,900
Al 16,900
= 0l & 33,800 32,606 1,194
= 16,900
Al 16,900
OdRdY 435 L =I1EA 22l 8
222 (228 1Y 200,000& *»23H *33| 13,800
= 6,900
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SN HEAYD
HzH: IHEAL S2ZA0U Y= EAQUsE =FHHHE AL(2ELXIEMNL/NILEZAl)
ol AIRIO| BEF =OEE 2o CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
Al 6,900
O=&O=2IIE 3 MAH =2 HE
20,000,000& =14 20,000
= 10,000
Al 10,000
206 M Z&H| 295,000 252,316 42,684
= 147,500
Al 147,500
01 &4l 295,000 252,316 42,684
= 147,500
Al 147,500
= 0l & 295,000 252,316 42,684
= 147,500
Al 147,500
OHEHOJAIE M P2
1,000, 000& *1003] 100,000
= 50,000
Al 50,000
O ZS JIEANE B2 UM 2
20,000 x100& =103 20,000
= 10,000
Al 10,000
OsdE E4+35 *2 5,000 *35,0002 175,000
= 87,500
Al 87,500
401 AEBIZL LY 4,344,259 4,994,092 A 649,833
= 2,172,129
Al 2,172,130
01 Al&HI 4,325,461 4,965,839 A 640,378
= 2,162,730
Al 2,162,731
= 0l & 4,325,461 4,965,839 N 640,378
= 2,162,730
Al 2,162,731
Ozl Hol22ell 60,000& x670E 40,200
= 20,100
Al 20,100
OJIBIAIE (=2, 28, 4ota5, 25, J13H)
ARE BZA 30,000,000 * 1504 A~ 450,000
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SH BEMYT
m: FUHA ABCAN R BAYS SHOEH (IS ANL/NSL AN
9l AIDIOl BEE saDEE 2 GO
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
= 225,000
Al 225,000
OZZANAE(HA 4500HA) B2 A 140,000
—&H20E 3,000,000& =400 A 120,000
= 60,000
Al 60,000
— MAAEA 1,000, 000& *20H £ 20,000
= 10,000
Al 10,000
OJIBLAIE X 22| AFE 119,657,000 * 1A 119,657
= 59,828
Al 59,829
OH=EE JsE2d & SIS 1,065,250
— A== &M 1,250,000& *55= 68,750
= 34,375
Al 34,375
— A== B 9,890,000& *103] 98,900
= 49,450
Al 49,450
— XIJtXlES 0l 12,000,000 x6= 72,000
= 36,000
Al 36,000
— A== ME&H ®X  1,200,000& *63= 75,600
= 37,800
Al 37,800
— YD 2 750,000,000& x1= 750,000
= 375,000
Al 375,000
OdEI , ALANE JsE22d ¥ SAES 165,580
— &I, ABAE B2 2,300,000& =12& 27,600
= 13,800
Al 13,800
— A ™ HB 2,150,000& =103l 21,500
= 10,750
Al 10,750
— &I AYAIAE Tt&EE S
5,200,000& 1200 & 62,400
= 31,200
Al 31,200
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SN

m: FUHA ABCAN R BAYS SHOEH (IS ANL/NSL AN
ol AIRIO| BEF =OEE 2o GO
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
— &I, Aa8AE AMSHE

1,150,000 #2004 2~ 23,000
= 11,500
Al 11,500
—EHLZLHAIE B2 5,180,000& *6IH &~ 31,080
= 15,540
Al 15,540
OWLEr )] A 34,774
— oA &bl 120, 000& *94 4 11,280
= 5,640
Al 5,640
— & D] &4l 86,500& * 1564 13,494
= 6,747
Al 6,747
— L IOAIAE A 1,250,000& *8IH 10,000
= 5,000
Al 5,000
Oz 02t TEE & X882 &1 260,000
— 22 OAELES 160,000, 000& 14! 160,000
= 80,000
Al 80,000
— X882 &X 100,000, 000& 14! 100,000
= 50,000
Al 50,000

O=&O=2IIE 3 W HOotE2r &4
100,000, 000& *3JH 2~ 300,000
= 150,000
Al 150,000
Ost3|AE ALY 100,000, 000& *8IH 2~ 800,000
= 400,000
Al 400,000
OJts=3sdE 100, 000& *6,000 600,000
= 300,000
Al 300,000
O3 II&EHAS 25,000,000& 43| 100,000
= 50,000
Al 50,000
OSIEIHAS K 22l At 20,000, 000& =54 A~ 100,000
= 50,000
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SN

HzH: IHEAL S2ZA0U Y= EAQUsE =FHHHE AL(2ELXIEMNL/NILEZAl)
CH9l: AlRIOl =S AMONE Be CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Al 50,000
OHIAXNJALEH 28I =4
100,000, 0003 =14 100,000
= 50,000
Al 50,000
OBANAME AURHBH 2%
50,000,000 * 14! 50,000
= 25,000
Al 25,000
03 A& S0HH] 18,798 18,253 545
= 9,399
Al 9,399
= 0l & 18,798 18,253 545
= 9,399
Al 9,399
OANERSXNESE 2EiZ3H]
437,200,000 %0 .6% 2,624
= 1,312
Al 1,312
OU=ESNES BUEY
1,675,604,000%0.6% 10,054
= 5,027
Al 5,027
O=&O=2IIEE W HOSY =24 2UHE
i 300,000, 000& *0.6% 1,800
= 900
Al 900
Osta|AESAIY 20Z bl
720,000,000 %0 . 6% 4,320
= 2,160
Al 2,160
405  XHaHFE S I 10,600 33,000 N 22,400
= 5,300
Al 5,300
01 ANHMLEEFSHI 10,600 33,000 N 22,400
= 5,300
Al 5,300
= 0l & 10,600 33,000 AN 22,400
= 5,300
Al 5,300

- 1113 -




SN HEAYD
HzH: IHEAL S2ZA0U Y= EAQUsE =FHHHE AL(2ELXIEMNL/NILEZAl)
9l AIDIOl BEE saDEE 2 GO
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
Ol =2l 500,000 *3CH 1,500
= 750
Al 750
ool 700,000& *2CH 1,400
=2 700
Al 700
Odlg & Z )| 700,000 = 1CH 700
= 350
Al 350
O&gE Ms28HX 1,000,000 =4 CH 4,000
= 2,000
Al 2,000
Ostg|dE=X =& dsXsxt
3,000, 000& = 1CH 3,000
= 1,500
Al 1,500
=HOI2IIEE D, ZBAIE2S 22l 56,298 1,451,144 N 1,394,846
201 Bt A | 22,518 22,000 518
01 Ar®2te2lbl 12,518 15,000 NP,482
= 0l & 12,518 15,000 N2,482
OTHoHCHEI &Hl L& 12,100
— 24| 650, 000& *4CH x23] 5,200
-8z 600, 000& *5CH *23] 6,000
— XA Xt 300,000 x1CH *33] 900
OFXE ots =9 M 209,000 *23] 418
02 =324gH| 10,000 7,000 3,000
= 0ff &F 10,000 7,000 3,000
OJlEt & XAHAA HAXE KA 9,000
S EHI 500,000 x123] 6,000
— B 600,000& *x53] 3,000
OJlgt & ZFAE A& =7EIX
200,000 53] 1,000
202 04| 3,780 5,460 A 1,680
01 =2UWAH 3,780 5,460 A 1,680
= 0l & 3,780 5,460 A 1,680
OJlEH, ZFAIE 22| #X 0t
60,000 *3H x5 x4 3| 3,600
OAlE 2 W0 60,000 x1H 12U x33] 180
206 M ZH| 30,000 23,684 6,316
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SN

MM 2HSBA AZEZAI0 U= EHU=E =FHEHSY 2R (ZELXNISNY/NILTA)
Sl A0 =8 = HOF2 2 S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
01 M2yl 30,000 23,684 6,316
=0l At 30,000 23,684 6,316
OXBANE 222 FHH 2L
100,000 *30& *103] 30,000
= HORIIAR A=E A 22l 58,546 55,186 3,360
201 LBt Y| 40,006 40,006 0
01 At 22lH| 3,000 2,000 1,000
=20 & 3,000 2,000 1,000
OA=EES SAUACIE AS 2A2E 7
400,000 53] 2,000
oS HYU=H AHHEX M
500,000 23 1,000
02 2EZ=29H| 37,006 38,006 A 1,000
= 0f| At 37,006 38,006 21,000
OHES QUEX(ARZ AL 23 B2)
A& SIFH 7,700,000,0002 *0.065% 5,005
OFIIAES(EI ALYl 2,250kW) HIIAA
800! *2, 250KW 1,800
OASAIE2(495 5,716m) HIIHY
350 5,715m 2,001
OHE M|, SEMAEE SANEL(0A 20
Q 2=, EHSZEE 1,373kw)
2,000,000, 0002 *0.75% 15,000
OFAL S#HALXY ®HIILH DA
500,000 x103] 5,000
O2aAAE ZH DHES
512,5009 x8J A x23] 8,200
202  OdHl 3,540 3,540 0
01 2ol 3,540 3,540 0
=0 & 3,540 3,540 0
OAHS = L KXzl dxor
60,0002 x3H 22 x63] 2,160
OFINAE K22 X o2
60,000 *3H 22 x23] 720
OATHAHX |SX22 #X o
60,0002 *3% x2 360
OFIIHE 2R DE 60,0008 * 1 x5 300
206 M2Hl 15,000 11,640 3,360
01 M2yl 15,000 11,640 3,360
=0l A 15,000 11,640 3,360
OSSSZA(10Ma) AMIF L THI|
P 570,0009 122 6,840
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5,000
5,000

174,938

34,988

9,000

9,000

25,988

25,988

3 3r
< RO
= RO
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SN HEAYD
HzH: IHEAL S2ZA0U Y= EAQUsE =FHHHE AL(2ELXIEMNL/NILEZAl)
ol AIRIO| BEF =OEE 2o GO
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
— S 24| 240,000 »3CH x12& 8,640
206 M Z&H] 133, 100 139,950 A 6,850
01 T4l 133, 100 139,950 A 6,850
= 0l & 133, 100 139,950 AN 6,850
O &L 2t 2l Xt XH 77,600
—Yols 2N ek 2,100,000& «8& 16,800
—Hlz 25,000& *5001L 12,500
— G 2EH 30,000& x5004 15,000
— 22| XY 111,000& x255 % 123] 33,300
O%l&EX =38 &C7Y 14,000
— MS&C] 14,000& *500 m* 7,000
— St= & 7,000& *1,000m* 7,000
O&CESHHE #¢ 41,000& *500m* 20,500
O&CIHHES 2 2 35,000& 600 m* 21,000
=HOIE R x3I8 22| 432,608 452,048 N 19,440
201 A E2 A Y| 47,000 49,000 A 2,000
01 Ar®2teltl 20,000 21,000 A 1,000
= 0l & 20,000 21,000 A 1,000
OstgldE 28 85 dxzs
400,000& *1CH =103 4,000
O%E 89 240/ &H dxzs
600,000& 10 =15 9,000
OstglE SESE HILotRA Xt
3,000,000 1= 3,000
O3stg 2el&30 0 X
50,000& *2CH x 1200 & 1,200
Ostgl =& M 20,000& = 100K 2,000
Ostg g2 AIR2eEs8E #¢
80,000 x 1004 & 800
02 =324l 27,000 28,000 A 1,000
= 0l & 27,000 28,000 A 1,000
O&HSY |34l 250,000& x 1000 & 2,500
OZTHHHE S =4I 1,750,000 x4 & 7,000
OAa 24 234 3,250,000& =44 & 13,000
OZ MUH&ES Al &8l Sl
300,000 *33] 900
Osts s =4l 300,000& «12& 3,600
202 044l 3,000 3,240 A 240
01 2Ll 3,000 3,240 N 240
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SA: MDD
MM RWBAN SBEAN e BAUS 2HUIY 2A(RELNANL/XNALTAI)
CHol: AIDIO] B=E =HOIFE B (69l @
- = o Ofl &t oH & T 0l AF A =
SN ZH - (3H) - HRAY - BE2 (Z= o) (713 o) HwE2Z
= 0f o 3,000 3,240 240
OBH3I0IE MY 60,0008 *52 +22 53] 3,000
206 M 280,001 392,008 A 112,007
01 M=l 280,001 392,008 A 112,007
=0l 4 280,001 392,008 A 112,007
OtsIFAGE EBT2 7Y
2902 200,000 58,000
OSBITAINE JIEIT2 22
4004 80,0002 32,000
OsIFANGE YHZESHE 7Y
4,000 * 15,000 60,000
OstgloiEZ2ANY 7L
220,0002 *10% *53] 11,000
Osisl 22 |12 b2 7Y
15,0002 *1,500% 22,500
Ostsl2elg MSEF I 7
22,0002 *8007H 17,600
OsIelg FSXM 7Y 40,0002 +3008 12,000
Ostsl 228 B3 5,000 1,550 7,750
OBTUHE SRS 4E2Y
11,0002 *2,000% 22,000
ostsl EX P 11,0002 *1,000kg 11,000
O3IE 3l 2728 %35 7 26,151
SSIERE - 2,500 +7,0002 17,500
~- 5oz 21002 +1,6432 3,451
- =0l 13,0002 *400% 5,200
301 LRI 2,607 6,800 ~4,193
09 BAIAHIBAS 2,607 6,800 ~4,193
= 0f ot 2,607 6,800 ~4,193
OF@ 2@ HEXAS 72,4008 *12% 33 2,607
401 AEHILRL 100,000 0 100,000
01 A&l 100,000 0 100,000
=0l 100,000 0 100,000
O=HPU2INEA 0NZA =4
100,000, 0008 * 174 2 100,000
HANAME 2 428,715 139, 162 289,553
101 o144l 56,215 0 56,215
04 JAHIZRUISRS 56,215 0 56,215
=04 56,215 0 56,215
OFATAME SZ0IEE Q2AY| 56,215
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SN HEAYD
HzH: IHEAL S2ZA0U Y= EAQUsE =FHHHE AL(2ELXIEMNL/NILEZAl)
ol AIRIO| BEF =OEE 2o CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
i ==1 66,800 x2H x21 x 122 33,668
—F5g 66,800& x2H 52 6,948
-5 100,200& *2H 523 10,421
— =20d3 51,035,000& *4.5% 2,297
—2AAEE 51,035, 000& *3. 12% 1,593
- 1N188E 51,035,000& *1.5% 766
—NMHEE 51,035, 000& *0.78% 399
— &) AYEE 1,592,000 *7.72% 123
201 A E2AH| 146,000 63,782 82,218
01 Ar®2telt] 33,000 18,632 14,368
= 0ol & 33,000 18,632 14,368
OANRESE 7Y 140,000& = 12& 1,680
OHIAXNZFAZR2Y 1,400, 000& *103] 14,000
O A Xt 200,000& = 12& 2,400
O=sMEXN 7Y 20,000 *8Et A x 128 1,920
OmgHe EH ¢ 180, 000& *4CH *x23] 1,440
OZHH & ¢ 200,000& x53] 1,000
O& I X2l 40,000& *3H A~ %123 1,440
OAEZ 22| A28 F2¢ 200,000& 53| 1,000
OMdEHEA & & 22183 2
100, 000& *123] 1,200
OZAXNAHE ZEH22IAlAE 22
20,000& x12& 240
ORI AHHIAIAE AH| 150, 000& x12& 1,800
OA2YANE HHEYH 200,000& «12& 2,400
Os2dI EIJEAN =2 240,000 *2& 480
OASANE H3UEH =2
1,000,000& *x23] 2,000
02 3294l 30,000 45,150 A 15,150
= 0ff A 30,000 45,150 A 15,150
O&IIANEZ 500,000& 128 6,000
Oudlx=E AIEE 150, 000& = 12& 1,800
OFdJXNJAHE 283 L S¢3 FA
1,500, 000& *23] 3,000
OFJAXNJLAEH LS 1,000,000& 23] 2,000
O&I|, ASAE A2 200,000& = 12& 2,400
OFBESAEH KX2e 250,000& = 12& 3,000
OHMIE MAEH 7X22 200,000& = 12& 2,400
OsZIl X2l 150,000& =2CH x 12& 3,600
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SN

HE: IS SDTAN FE BAUS HUF VA(IELXNAHL/NSLTAI)
Sl AISIOl B=Et =HOFA B (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
OJIHa JIHM&H A2l 500,0008 *43] 2,000
OME ZZ42 L ZANES 22
1,000,0008 *23] 2,000
OME A2 Y| 150,000 *123] 1,800
03 A2 83,000 0 83,000
=0 & 83,000 0 83,000
OFLAMOIH Z2& HE  8,000,0002*13] 8,000
OstfIZA BAUE N2 60,000
P 2,000,000 * 10/ 20,000
— sy 1,000, 0002 x20&! 20,000
— e 1,000, 0002 *20&! 20,000
Ostsl Al AN YR R
3,000, 0002 *14] 3,000
OSFIZA AU ZEHE AT L ¥
e 5,000, 0008 *14] 5,000
OstslHAl 2XUE LEBD B2
200,0002! * 157 £ 3,000
Ostel=A BAUE HBE A
4,000,0008! #14] 4,000
202 o1t 3,000 2,880 120
01 =0l 3,000 2,880 120
= 0 4t 3,000 2,880 120
OME 29, HR4T, A7 A oY
0,000%! *5% +22 53] 3,000
206 TR 150,000 7,500 142,500
01 W 150,000 7,500 142,500
=0 & 150,000 7,500 142,500
OMEH 2YESE 2 I 7Y
2,000,0008 *123] 24,000
OFANYAZ 2 28 7
600, 000! 203l 12,000
O2YIY A2DH L 2lHg
1,000,0002! #67H 2 B3] 48,000
OZe 2ZDS W 7
2, 100,0008 *203] 42,000
OZBUSHHA 29 UM 7
2,000,0008 *123] 24,000
01 Ypreaa 24,500 0 24,500
09 BAAHI 24 2,500 0 2,500
=0 & 2,500 0 2,500
OXZGM MFX A8 50,0009 +30% +13] 1,500
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SN HEAYD
HzH: IHEAL S2ZA0U Y= EAQUsE =FHHHE AL(2ELXIEMNL/NILEZAl)
ol AIRIO| BEF =OEE 2o GO
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
Osta| e & X AS 50,000& x20H 13| 1,000
12 JIEIE A2 22,000 0 22,000
= 0l & 22,000 0 22,000
OFAANO0H s2H Al4 2,000,000& *13| 2,000
O3stg| &A BAUE RLEZE AlaZ2 20,000
— I8 5,000,000 x2H 10,000
— St & 1,000,000& x5H 5,000
— HE 1,000,000& x5H 5,000
307 QIz2tol & 24,000 0 24,000
04 BIZFBAAIRERE 24,000 0 24,000
= 0l & 24,000 0 24,000
OHIELIAGHO 2 (dd .3 s&E
s) 24,000,000& *13| 24,000
405  XHaHFE S 25,000 65,000 A 40,000
01 XML =2EFSH| 25,000 65,000 A 40,000
= 0ff & 25,000 65,000 A 40,000
HAXNJYHEH 89 23 2¢
3,000,000& 5= 15,000
OHRIIXNN 2 5,000,000& 2= 10,000
AESHE MAD[EEXR A 255,663 234,000 21,663
201 282 A H| 93,392 60,000 33,392
01 AFR22lH| 14,000 0 14,000
=0l & 14,000 0 14,000
OANRESES 7Y 30,000& *4H x53] 600
OXd &3 MaAD|IB E82 HE
1,000, 000& *53] 5,000
OZHH 85§ #+¢ 2,000& *500H 1,000
OXFSAS S MAT & S 2HE3 (2
) W=l 1,850,000& x4 3] 7,400
02 =324l 19,392 0 19,392
= 0l & 19,392 0 19,392
OX2Z .33 28 2BELSH
2,000& *3,000H 6,000
OYLEAlAE S XIH| 1,500, 000& *43] 6,000
OEINEAH KAEE 739,200 x103] 7,392
03 AI2FHI| 60,000 60,000 0
= Ol & 60,000 60,000 0
O&EZE, 28,23 dAE Nz 60,000
—&EZ 2 &8AZ 20,000,000& 13| 20,000
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2N HALAD
HE: IS SDTAN FE BAUS HUF VA(IELXNAHL/NSLTAI)
Sl AIIOl BES =HOIEY B2 (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
—xZ% =M ®AE 20,000,0008 *13] 20,000
— 28 =X @A 20,000,000 *13] 20,000
202 OfHl 7,800 0 7,800
01 2ol 7,800 0 7,800
=0 4 7,800 0 7,800
OFAMY UHRAEEF W0
60,0008 *4% +52 +53] 6,000
OBALY NOILH & A
60,0002 *3% x22 #53] 1,800
206 THEHI 4,471 0 4,471
01 M 4,471 0 4,471
=0 &t 4,471 0 4,471
OXH&3 ¥ MW 2 4,71021005 4,471
307 9120l H 50,000 74,000 24,000
02 QIABMAYRE 50,000 50,000 0
=0 & 50,000 50,000 0
OBZDIUSANE 29 50,000,000 *18] 50,000
402 RIAT2O0IH 100,000 100,000 0
01 QIAREALRE (KM HS) 100,000 100,000 0
=0 & 100,000 100,000 0
OFA+ ZSHASH NS 98 U X
(ZE NES) 1,000,000 *100% A 100,000
DERSHN X4 (V4 TLY I4) 1,920,000 2,740,000 820,000
401 ANZHIL LY 1,920,000 2,740,000 820,000
01 Al&HI 1,883,712 2,706,297 A 822,585
= 0l 4t 1,883,712 2,706,297 822,585
ORSRSHN Z4 (a4 IBF)
1,883,712,000%! * 14! 1,883,712
02 el 29,376 28,490 836
=0 & 29,376 28,490 836
OR=RsHX Z4(Z38+ ZBE) 22l
bl 1,920,000,0002 *1.53% 29,376
03 Al&=CH| 6,912 5,213 1,699
=00 & 6,912 5,213 1,699
2ERSHN IS (IR4L THY) AL
S ol 1,920,000, 0002 0. 36% 6,912
EHORNFR 0FAFB LR 440,000 2,260,000 ~1,820,000
401 ANSHIL2THY 440,000 2,260,000 ~1,820,000
01 Al&HI 437,120 2,254,000 ~1,816,880

- 1123 -




SA: "M
M IRYBA ADCAN R BAUYS 2N B(RELXNANL/NALCA)
CHol: AIDIO] B=E =HOIFA B (69l @
- = o Ofl &t oH & A & 0ff A OH =
SA BB S(BH) - HBAY - B o o HRE2
= 0f o 437,120 2,254,000 ~ 1,816,880
O=FPU2INE I2II(018, HEH) 2
AW RIS I FB M 397,120
-oss 198,560, 000! * 174 2 198,560
. 198,560,000 * 174 2 198,560
O=2JIEE OrAZ 2 ®IIANL |
40,000,00021 144 40,000
03 Al&=0iHl 2,880 6,000 A3,120
= 0f 2,880 6,000 A3,120
O=HUBINIA HI2I(HE HEH) 2
2 SIS I I LI ANL2HY
400,000,000 *0.72% 2,880
SHUINHA TP BAAY 300,000 1,500,000 A1,200,000
401 AEHIL2 0 300,000 1,500,000 A 1,200,000
01 Al 297,840 1,492,575 A 1,194,735
= 0f & 297,840 1,492,575 A 1,194,735
OZFA4 PAAL 99,280, 0002 *30H A 297,840
03 Al&=OiHl 2,160 7,425 A5,265
= 0f ot 2,160 7,425 A5,265
OZXZA4 22AY AL
300,000,000 *0.72% 2,160
20198 SZHAAHLES 29 390,000 0 390,000
201 Yot 290,000 0 290,000
01 At 22l 200,000 0 200,000
= 0fl & 200,000 0 200,000
020198 2Z MHAMAS 3282 2
% S 200,000,000 *14! 200,000
03 A2 90,000 0 90,000
= 0f & 90,000 0 90,000
020198 =7 HAHAN LS S=2H
Med s 90,000, 00021 * 14} 90,000
310 =220lH 100,000 0 100,000
01 240 100,000 0 100,000
= 0fl & 100,000 0 100,000
020198 22 MHAMLS 22 2
2l 29 S 100,000,000 * 14! 100,000
HHSEHU (HA A D) (IIEH/IIE) 243,346 218,473 24,873
olei 2 ot b 167,306 153,305 14,001
oz 2oy 167,306 153,305 14,001
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SN
X ZH -
L=

el

x s . 0 & o H = ol -
SA B S (SH) - MEMY - BES =z i BlRE2
101 elA4| 167,306 153,305 14,001
01 2= 167,306 153,305 14,001
= Off & 167,306 153,305 14,001
SNEELE
10,2993 x19H «30Al 2+« 122 70,446
Osgzef=¢ 82,786 x 10 x117L 96,860
Jl23tl 76,040 65, 168 10,872
JlE2&l 76,040 65, 168 10,872
201 et 23,000 20,168 2,832
01 AtR2Zeldl 23,000 20,168 2,832
= Ofl &F 23,000 20,168 2,832
OgBt==2H| 13,400
— SAI L Xt 500,000& +x12& 6,000
—=SEMEX 7Y 25,0002 x 10 A %128 3,000
— MR FIJIYX 60,000& 20 122 1,440
—JI2NREE 116,000& * 103 1,160
—2NSS+=EHl 150,000& 12 1,800
OJI2gSRFAS20HAHI
8,000& x10E 10 128 9,600
202 044l 48,000 40,800 7,200
01 =AYl 48,000 40,800 7,200
= Off & 48,000 40,800 7,200
OJI2gf+d =&H0H|
20,0003 *20Y8 x 10« 128 48,000
203 YR =T 5,040 4,200 840
04 EN2ILRFAH 5,040 4,200 840
= Ofl &F 5,040 4,200 840
OfM2IF&HI 420,000 x1204 & 5,040
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